Assembling the Delta pulley and arms Guide ID: 8 - Draft: 2015-06-30

firepickdelta

Assembling the Delta pulley and arms

Written By: Neil Jansen

] | 7 6 5 e 4 3 2 1
- [ -
.  — — — — S—
= e
————— =y
T s
—
T — v
m e i e aan e
——
= — e e
= o s e e
= — ==
= C— ——
= e
ROTE wmnztsmmlonmnl):uue SE M
HAEE [3) ARE NEEDED FOR THE MACHME, DNE FOR Ex

1

it G e i 1 04 =

ADOOOE - Deita pulley and arm assemt

TLLITIN WHISKERS

This document was generated on 2021-12-20 07:45:18 PM (MST).
© 2021 firepickdelta.dozuki.com/ Page 1 of 9



Assembling the Delta pulley and arms Guide ID: 8 - Draft: 2015-06-30

TOOLS:

Small phillips screw driver (1)

This document was generated on 2021-12-20 07:45:18 PM (MST).
© 2021 firepickdelta.dozuki.com/ Page 2 of 9


http://www.amazon.com/TEKTON-2985-Jewelers-Precision-Screwdriver/dp/B000NY6Q8S/ref=sr_1_5?ie=UTF8&qid=1433090966&sr=8-5&keywords=phillips+precision+screwdriver

Assembling the Delta pulley and arms Guide ID: 8 - Draft: 2015-06-30

Step 1 — Reference - Exploded View Diagram

= @ Forthis guide, please refer to the

exploded diagram with annoted
parts / Bill of Materials.

e Note: Use the PDF linked diagram
above, not the thumbnail provided
by Dozuki.

2

'ADOODS - Deita puley and am

TLITIN WHISKERS

] ]

I =

Step 2 — Gather parts

o Note to self: Take some pics of the hardware bags and put them here

This document was generated on 2021-12-20 07:45:18 PM (MST).
© 2021 firepickdelta.dozuki.com/ Page 3 of 9


https://drive.google.com/open?id=0B-U7icB6QM8FUjdnU2JTVEZIWHc&authuser=0

Assembling the Delta pulley and arms Guide ID: 8 - Draft: 2015-06-30

Step 3 — Remove Support Material

o Remove the brim on the smaller end of the arm, and the support material in the two nut traps

@ NOTE: The brim and the support material may have already been removed for you by us, when we
packed your kit. but it's best to double-check.

Step 4 — Assemble Bearing

o Insert 3d printed nut into ball bearing

This document was generated on 2021-12-20 07:45:18 PM (MST).

© 2021 firepickdelta.dozuki.com/ Page 4 of 9


https://www.simplify3d.com/support/tutorials/rafts-skirts-and-brims/

Assembling the Delta pulley and arms Guide ID: 8 - Draft: 2015-06-30

Step 5 — Create bearing assembly

| e Place flat washer on M3-50mm
' : : screw

e Place screw through 3d printed nut

Step 6 — Add bearing to arm

[ __d ‘,-,4
*

@ Insert screw into arm

e Attach M3 nut to back side and tighten until secure and snug, but not so much that the plastic
deforms.

This document was generated on 2021-12-20 07:45:18 PM (MST).
© 2021 firepickdelta.dozuki.com/ Page 5 of 9



Assembling the Delta pulley and arms Guide ID: 8 - Draft: 2015-06-30

Step 7 — Add DBS-0.375-10L-HEX Ball-Studs

@ Attach ball-stud to arm

e Secure with M3 nut. Again, tighten
until secure and snug, but not so
much that the plastic deforms.

THIRD ANGLE PROJECTION
ALL DIMENSIONS IN MM

APPROVED

This document was generated on 2021-12-20 07:45:18 PM (MST).

© 2021 firepickdelta.dozuki.com/ Page 6 of 9



Assembling the Delta pulley and arms Guide ID: 8 - Draft: 2015-06-30

Step 8 — Add Belt Screws

e Insert M3 x 12mm L pan-head screw into pulley
Secure screw with M3 nut
o Insert M3 12L flat head screw into opposite side of pulley

Secure flathead screw with M3 nut

This document was generated on 2021-12-20 07:45:18 PM (MST).
© 2021 firepickdelta.dozuki.com/ Page 7 of 9



Assembling the Delta pulley and arms Guide ID: 8 - Draft: 2015-06-30

Step 9 — Attach Arms to Pulley

o Insert two M3 nuts into each orange arm, as shown in the second picture. NOTE: Only two of the
holes will accept nut traps.

Insert two M3 x 30mm? pan-head machine screws into each orange arm. NOTE: Only insert the
screws into the ROUND counter-bored holes.

e Carefully assemble both orange arms and the black pulley as shown in the first picture. The nuts
and screws are caddy-corner, so when facing each other, everything should line up nicely (nut to
screw, etc).

@ NOTE: Do not fully tighten until you complete the next step

This document was generated on 2021-12-20 07:45:18 PM (MST).
© 2021 firepickdelta.dozuki.com/ Page 8 of 9



Assembling the Delta pulley and arms Guide ID: 8 - Draft: 2015-06-30

Step 10 — Add limit switch interuptor

@ Insert 3d printed limit switch
interruptor

e Secure with 20mm M3 screw and
nut

e Tlighten all screws

e Repeat this guide until you've got
three assembled pulleys, as shown.

This document was generated on 2021-12-20 07:45:18 PM (MST).
© 2021 firepickdelta.dozuki.com/ Page 9 of 9



	Assembling the Delta pulley and arms
	Written By: Neil Jansen

	TOOLS:
	Step 1 — Reference - Exploded View Diagram
	Step 2 — Gather parts
	Step 3 — Remove Support Material
	Step 4 — Assemble Bearing
	Step 5 — Create bearing assembly
	Step 6 — Add bearing to arm
	Step 7 — Add DBS-0.375-10L-HEX Ball-Studs
	Step 8 — Add Belt Screws
	Step 9 — Attach Arms to Pulley
	Step 10 — Add limit switch interuptor
	Step 11 — Repeat Two More Times


